



Nom: _____

Date: _____ Note: _____

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^0 - \frac{1}{3} =$$

$$\left(\frac{3}{4}\right)^2 + \frac{2}{5} =$$

$$\left(\frac{1}{4}\right) - \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^0 + \frac{3}{5} =$$

$$\left(\frac{1}{4}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{4} =$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{5} =$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{4} =$$



Nom: _____

Date: _____ Note: _____

$$\left(-\frac{3}{5}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{2}\right) = \frac{3}{8}$$

$$\left(-\frac{3}{5}\right)^3 - \frac{1}{3} = \left(-\frac{206}{375}\right)$$

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{1}{2}\right) = \frac{1}{2}$$

$$\left(-\frac{1}{6}\right)^3 + \left(-\frac{3}{4}\right) = \left(-\frac{163}{216}\right)$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{4} = \left(-\frac{53}{216}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{5}\right) = \frac{4}{5}$$

$$\left(\frac{3}{5}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(\frac{3}{4}\right)^2 + \frac{2}{5} = \frac{77}{80}$$

$$\left(\frac{1}{4}\right) - \frac{1}{3} = \left(-\frac{1}{12}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{3} = \frac{7}{12}$$

$$\left(\frac{1}{6}\right)^3 + \frac{1}{2} = \frac{109}{216}$$

$$\left(\frac{1}{2}\right) - \frac{1}{2} = 0$$

$$\left(-\frac{2}{5}\right)^0 + \frac{3}{5} = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{1}{4}\right)^2 + \frac{3}{5} = \frac{53}{80}$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{3}{8}\right)$$

$$\left(\frac{1}{5}\right)^3 + \frac{1}{4} = \frac{129}{500}$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{5} = \frac{199}{320}$$

$$\left(\frac{1}{4}\right)^3 - \frac{1}{4} = \left(-\frac{15}{64}\right)$$